Mathematician leﬁD__I’Q_Q%

Yasmine has Two jobs- Target pays $8 per hour and Jets Pizza Palace pays $6.50
per hour. Yasmine needs to earn at least $130 to go o math camp. She can only

work 10 hours at Target. Because of school and her vast social life, Yasmine can

work a total of no more than 22 hours each week at her two jobs.

Give five viable solutions for this situation.
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Organized Solutions
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A. Choose all of the ordered pairs that are solutions for the system.

SHCICICE. N

B. Write 5 additional solutions to the system of linear inequalities (if any).




